1. (5 points) Find a basis for the nullspace of the matrix (as always, give all details):
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2. (6 points) State the|definition of a set of linear independent vectors. For what values of X is
the set of vectors {(A? — 5,1,0),(2,-2,3), (2,3, —3)} linearly independent? For what values is it
a basis for R®? Give details! Answer the same questions for the following set of vectors in R%:
{(a®,3),(-1,a — 2), (,a), (—a® - 2a + 2,22), (a/2, —1/a)}.
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3. (5 points) Find the r

and determine the di
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4. (4 points) Decide wh
want full points!):

(a) Let A be an m
(b)
(c)
(d) If Aisan 8 x 8

The nullspace o

Every linearly i

ank of the matrix

12 1 31
21 -2 01
22 0 01

mension of its nullspace. Give details!
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ether the following statements are true or false (give a short justification if you

x . matrix. The set of vectors z such that Az # 0 is a subspace of R".
ndependent set of vectors in R'7 contains seventeen vectors.
f matrix A is spanned by the columns of A.

singular matrix, then rank(A4) < 8.
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